SVZNVNI4 A NOWGZY FA V¥YOLOINId

IVHINTO J0103dId
OY3ILNOW OaV.LdNH SOTHVD FOYOr "DV

L——

98'¢€z'L2v$ LG'¥61°86E0GL$ 18°196'027°0G51L$ 19'G61'8¥8°061$ 19°256'76£'65$ 00°€v2'eSh'16$ ojses) |ap |ejol
19'982°92v$ 9L LYL'6YS'6vLS 90'606°LLS'6V1$ L9'G61'866°611$ L9'256' 775 89$ 00°€VC'eSy'16$ STTVIOOS SANOIOVLSTLINVIA SYHLO A VHNLTIND ‘NQIOYIHO3H
19'982°9¢v$ 9L’ LYL'6VS 61 LS 90'606°LLS'6YL$ L9'G61'866'6VL$ £9'2S6'P¥S'85$ 00°€¥2'eSy'L6$ IVIOO0S O1104dvS3a
G2’ LV6$ G£'2S0°678% GL'250'678$ 00°000°'058% 00°000°058% 00°0$ HOIY3LNI avaldno3s 3d A 02179Nd NIAYO 3d SOLNNSY
SC'LY6$ GL'2S0'678% GL°2S0'6¥8$ 00°000°058$ 00°000'058$ 00°0$ ONH3Id0D

(y-€)=9 S 17 = z L

(z+1)=¢ (sauol2onpay) O“_.n_wocoo
olo1oiefagng opebed opebuanaqg opesyIpo | sauoioeldwy opeqoudy

sosaibg

‘wrd /G:zo | uoisaidwi ap eioy

6102/99)/50 | A eYoa4

(uoroung £ pepijeurd) jeuotoung ugioeayise|d
sosalb3 ap ojsandnsald o191043[3 [9p od1jljeuy opejs]

ayoadwes ap opels3 |ap auodaqg |9p oInMIsu|

810Z/9IP/LE IV 8102/2U8/10 [oq |

ayosadwen ap opejsgy

€N4~ sosaibgojsendnsaidopels3yds :doy

Josiniedng usn




